Year 2 Maths Homework

10 More and 10 Less

10 More and 10 Less

5a. What is 10 less than the number
below?
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5b. What is 10 more than the number
below?
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6a. What is the missing number?
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éb. What is the missing number?
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7b. Find the missing numbers.
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8a. What numbers are missing from the
number grid?
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63 | 64 | 65 67
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8b. What numbers are missing from the
number grid?
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10 More and 10 Less

10 More and 10 Less

4a. Is Alice correct? Explain your answer.

My hair is 48cm long. If |
have 10cm cut off, it will
be 38cm long.

Alice

4b. Is Solomon correct? Explain your
answer.

My model tower is 52cm
tall. If | make it 10cm
taller, it will be 63cm tall.

Solomon

5a. Freya has created a sequence of
numbers.

14 24 44 54
10 1 10 1 10 1 10 1
1 10 1 10 1 10 1
1 1 10 1 10 1
1 1 10 1 10 1

10

Is she correct? Explain your answer.

5b. Jacob has created a sequence of
numbers.

52 32 22 12
10 1 10 1 10 1 10 1
10 1 10 1 10 1 1
10 10

10

10

Is he correct? Explain your answer.

éa. Each child has chosen a number.
Which number has not been chosen?
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6b. Each child has chosen a number.
Which number has not been chosen?
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